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4. Please comrectly fill your Roll Number in O.M.R. Shest.
Candidate will themsalf be responsibie for flling wrong
Roli No.

2. At the start of the examination before aitempting the
question paper kindly check your test booklet and OMR
Answer Sheet and ensure that :

*  The serial numbers of test booklet and OMR answer
sheet are same.

*  All pages of test booklet and OMR answer sheet are
properly printed. Al guestions from S.No. 1 to last
S.Ne. 100 are printed and pages from S.No. 1 fo last
S. No. 32 are there in the guestion booklet.

In case of any discrepancy / defect the candidate should
immediately report the matier to the invigilator for
replacemnent of test booklet and OMR answer sheet. No
claim / objection in this regard wili be enterfained after

“five minutes of start of examination. Candidate will be

liable for it ‘

3. Answer all guestions.

4. Ali guestions carry egual marks.

5. Only one answer is {o be given for sach quesiion.
8

. If more than one answers are marked, it would be
treated as wrong answer,

7. Each question has four alternative responses marked
serially as {A}, {83}, {C}, (D). You have to darken only
one circle or bubble indicating the correct answer on
the Answer Sheet using BLUE BALL POINT PEN.

B. Use of Mobile Phone/Bluetooth Devices or any other
elecironic gadget in the examination hall is strictly
prohibited. If any such prohibited material found with
any candidate, strict action will be taken against hiny
her as per rule.

8. If there is any soft of ambiguity/mistake either of
printing or factual nature in Hindi and English Version
of the question, the English Version will be treated as
standard.

Warning : If a candidate is found copying or if any
unauthorized material is found in hisfher possession, F.ILR.
wouid be lodged against him/her in the Police Station and
he/she would liable to be prosecuted under Section 3 of
the Siate Pravention of Unfair means Act, 1992 and
Board Regulations. Board may also debar him/her
permanently from all future examination of the Board.
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1 Who established Vardhaman Pathshala in 1905 in Jaipur 7
{A) Major Shaitan Singh
(B) Gulab Chand Kasliwal
(C) Master Bholenath
(D) Arjunlal Sethi
1905 ¥ wOgy ¥ IEEH T @) e e w7
(A) o= e Ris
(B) TR W
(C) X Wy

(D) e W

2 Which building of Jaipur has been included in the list of World Heritage of
UNESCO ?

(A) City Palace (B) Jantar Mantar

(C) Jal Mahal (D) Hawa Mahal

SOyt & few Wemifess e @ e o O whew ge F aitm fe wm ar 7
&) R e (B) = w=R

(C) v wew (D) w1 wew

3 Which one of the following is not a form of folk theatre (Lok Nritya) in Rajasthan ?

(A) Swang (B) Rammat

(C) Dhadi (D) Khayal

Frefelae ¥ ¥ SFar TerRgT @ e e (o) e A ¥ 7
(A) @ (B) W

(©) R 0) @

4  Which one of the following is a stringed musical instrument of Rajasthan ?

(A) Algoza (B) Jantar
(C) Poongi (D) Bankia
frefefae & § TORE™ B B9 Aae aq a9 8 7
(A) s (B) =R
© ¢ (D) i

69 22 | S 2 [ PTO.
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5  Which woman played an important role in Mewar Praja Mandal ?
(A) Janki Devi Bajaj (B) Narayani Devi
{C) Kali Bai (D) Kishori Devi
wore geEse W few wier ¥ veegd g tew ?

(A) wWe T SO (B) =l 390
(C) »wl I8 (D) e &

6  Sir V. T. Krishnamachari was the Diwan of which State 7
(A) Mewar (B) Jodhpur
(C) Jaipur () Jaisalmer
|t 9.8, pemEEr 5 g $ dem ¥ 7
(A) #ar$ (B) witegR
(C) =gt D) ST

7 With which Movement is Trench Commission associated ?
(A) Alwar Peasant Movement
(B) Meo Peasant Movement
(C) Begu Peasant Movement
() Jat Peasant Movement
o9 WA few o § welg ¥ 7
(A) owER g orEEe
(B) A foer SR
(C) =7 famr eriRres
(D) we fpam sigme

8§  Who was the AGG of Rajputana at the time of the Revolt of 1857 7
(A) George Lawrence (B) Major Burton
(C) Colonel Holmes (D) Saddier Cotton
1857 &\ @it & w99 TSI & TS, B & 7
(A) v aRE (B) R A
(€) = a o (D) TR HRA
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9  Who among the following was sent by Akbar to conciliate Maharana ?m‘ga?%ﬁﬁ}m

the Battle of Haldighati 7
{A) Saiyyad Hashim (B) Amir Jalal Khan
(C) Shahbaz Khan (D) Ghazi Khan

TR U & w § T8 A5 YO ¥ GREET B 3 e etwet 7 Freanga § o e S 7

(A) Tz wfdm (B) MR W@ @

(C) mes™ @ D) = @

16  Which ruler of Marwar was brought up by Gora Dhai - who is called ‘Pannadhai of

Marwar’ ?
(A) Jaswant Singh (B) Ajit Singh
(C) Abhay Singh (D) Ram Singh

TEE & R e &1 9 Qe T U Y e - e aEw @ g o wer

ST E 7
(A) wEEaRis (B) oriaRis
(C) ervaids (D) e

11 In which of the following civilizations can the remains of developed and strategic
fortification be found ?
(A) Bairath (B) Kalibangan
(C) Iswal

frefefen & @ fom gwa ¥ Ryofn o gmle TT@ @ edd & oy urw
e 7
(A) TS

(€) swaw

(D) Ganeshwar

(B) e
(D) TasER

69 (2202) | i‘—{% 4 [ PT.0.

12 Which language is spoken in Behrod and Mundawar of Alwar Disirict ?
(A) Rangari {B) Hadauti
(C) Mewari (D) Abhirwati
FFel e & sEls ol grerEd ¥ ey S e o o ¢
(C) =y (D)

Nz’
oo,
p

3

.,

13 For propagating which art in India and abroad was Kripal Singh Shekhawat honoured
with 'Padamshree’ 7

(A) Blue Pottery
{C) Usta Art
FUE SEEd B 6w dar B Ry ¥ gsww Raw $ { wgesl § e

(B) Enamel Work

(D) Thewa Art

w7
(A) @1@7‘{% (B) #rFmrd
(C) w=at & (D) =1 ®en

14 Who among the following took his 'Diksha’ - initiation from Guru Gorakhnath ?
(A) Jambhoji (B) Sant Peepa
(Cy Dadu Dayal (D) Sant Charan Das
e o ¥ e o ey § e oy ?
(A) =T S (B) g 9
(C) =g = (D) 9a goE™

15  Who got the Ekling Temple built in Mewar in the 81 century ?
{A) Bappa Rawal {B) Maharana Mokal
(C) Maharana Raimal (D) Maharana Kumbha
el AT ¥ e ¥ il WR o St feed wamr o 7

(B) wETen e

(D) ¥R e

(A) ¥ TEw
(C) =T uRw

69 (2209) ] ‘ﬁ%ﬂ 5 [ PT.O.
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16 Evergreen forests are found in Rajasthan at —

(A) Udaipur {(B) Mt Abu
(Cy Kota (D) Ajmer
TS H TENER §9 U Wi ¥ -

(A) seagT H (B) Wz &g #
(C) mr ¥ (D) wwAT A

17 Thar Express runs between Manabao and

(A) Attari (B) Khokrapar

(C) Kartarpur (D) Karachi
U TENE YEE Y B I g § |

(A) el (B) WEWR
(C) wxamygT (D) s

18 ‘Monkey Valley’ is the name of —

(A) Nahargarh (B) Amber
(C) Galtaji (D) Jaigarh
wer S fenee AW ¥ 7

(A) “wTE (B) amx

(C) ey D) v

19 At which place in Rajasthan Tree Festival is celebrated on 12 September every

year 7

(A) Kailadevi (B) Khejadli

(C) Mandore (D) Kolayat

oo o fee we ut wfrad 12 fdst @ gy wels mER SR e 7
(A) e (B) gw=d

(C) == (D) @

69 (2202) | Cﬁ'«ﬁ 6 [ BT.O.

20 Which of the following districts has the maximum fallow land ?

{A) Jodhpur By Churu
(C) Udaipur (D) Jaisalmer
Freafafee & @ o 9 ¥ woifs a g ¥ 7
(A) egy (B) &

(C) s (D) Fawie

21 Which of the following districts is included in Arid Western Agro climatic zone 7

(A) Pali (B) Sikar

(C) Nagaur (D) Bikaner

frfvfee o & smw fen g ool oY sweng 9oy # aftnfkvg o wmr & 7
(A) (B) Tt

(C) Wk (D) HHET

22 Total land boundary of Rajasthan is —

(A) 5620 km (B) 5920 km
(C) 5000 km (D) 6000 km
RGeS S i

(A) 5620 fedr (B) 5920
(C) 5000 Rl (D) 6000 fseh

23 How many states touch the border of Rajasthan 7

oy el o 9 U9 ¥ e E 7

A) 6 (B) 4
© s (o) 3
69 eop) ] P 7 [ PTO.



24 Which of the following rivers is perennial in Rajasthan ?

{A) Kantli (B) Banganga

{C) Ghaggar (D) Chambal

0 A, 3.

ERT Y R ¥ Y eEel T eEiee g7

(A) @l (B) s

(C) =Y D) ==w

25 Central Sheep and Wool Research Institute (CSWRI) is located at —
(A) Phalodi (B) Raniwada

(C) Avikanagar (D) Jodbeed

HEE T Td &9 SFUUH &w oERyd ¥ -

(A) waRT B) THETE

(C) T (D) wiedR

26  Garnet deposits in Rajasthan are found at :

(A) Sawaimadhopur (B) Bundi
(C) Tonk (D) Jaipur
oI & e % WER TR WK ¥

(A) wargeregR A
©) <fw 3

B) T

(D) wagT ¥

69 (2202) ] %ﬂ g
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27 Which one of the following is NOT an inland river of Rajasthan 7
(A) Kantli (B) Sabi
(C) Kakani (D) Sagi
trefafen % € 299 06 Tonaw @y ofqwendy e wE ¥ 7
(A) wiawr (B) =T
(C) @@ (D) @

28 Parvati irrigation project is beneficial for which of the following districts 7

(A) Ganganagar {(B) Dhaulpur

(C) Alwar (D} Pali

wredr Riwrg shaer el e Y S o d i amwe & 7
(A) IR (B) g

(C) @wax (D) W

29  Which is the driest district in Rajasthan 7

{(A) Jodhpur (B) Jaisalmer

{(C) Barmer (D) Bikaner
RN ¥ y[an far SRer 7

(A) e (B) et
(©) s (D) <t

36  Which one of the foliowing is correctly matched ?

Types of Soil Districts
{(A) Aridisols -
(B) Alfisols -
(C) Inceptisols -
(D) Vertisols - Jodhpur, Barmer

Frefaled o € sE @ galaa § 7

Ajmer, Udaipur
Bikaner, Ganganagar

Bhilwara, Pali

T % WHR IEC]
(A) T - O, I8UYT
(B) owHER - S@EY, TR
(C) TR - e, e
(D) =l - SR, §RET
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31

32

33

34
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The total number of tetrahedral voids in the face centred unit cell is —

e bhEd THE Fitow o agewen R & g vew e -
(A) 6 B) 2
© 10 Oy 12

The interionic distance for caesium chloride crystal will be —

Qv waEs rew & W ofat awfe g e -

a

&) a ®
2 3
© F o Lo

o]
Sodium metal crystallizes as a body centred cubic lattice with the cell edge 4.29 4.

What is the radius of sodium atom ?

i g 1 B s B e 3 w3 g et witow B 429 4
¥ 1 e gog @ B ww e 7

(A) 1.857x1078 em (B) 2371x1077 cm

(© 3.817x10 8 em (D) 9.312x107" em

How much of NaOH is required to neutralise 1500 em? of 0.1N HC1 ?

(At. wi. of Na = 23)

0.IN HCl % 1500 em? & Serdeieer & frq feay NaOH &t stasgaar g1 7
(EfsTm @ grEry w = 23)
(A) 48

(C) 40 ¢g

B) 6g
(D) 60¢g

o
3
o

35

Which of the following does not show positive deviation from Raoult's Law ?
{A) Benzene-Chloroform

(B) Benzene-Acetone

(C) Benzene-Ethanol

(D) Benzene-Carbontetrachloride

frefoRa o @ @ Tow Pow € wwew Reew ik Sl e ¥ 7

(A) YfF-TAEE

(B) sF-wERN

(C) Sem-waElw

(D) THT-BRACEIERITE

K;of 1, 4-dioxane is 4.9. The depression of freezing point for 2 0.001 m solution in
dioxane is —

1, 4o & Y K 4.9 % 1@ 0.001 m sEofeds Rwew & fe Rule @1 ememe
T -

(A) 0.49 (B) 0.004%
(C) 45 (D) 4.9 + 0.001
37 A solution is separated from its solvent by means of a semipermeable membrane at
27°C. The molar volume of the pure solvent is 20 mL. The vapour pressures of the
solution and solvent are 740 mm and 760 mm, respectively, at 27°C. The Osmotic
pressure is —
27°C R um fqmow @ Su% awe § Seure e ® & oW e 9 8 |
= T &1 Awe emges 20 mL § 1 27°C W Riegw R ous eme % arEE wmEen
740 mm X 760 mm ¥ | @ TTET T W —
4.576x 300 o 760
A T B a0
3 1.987 x 300 x 740
(B) 760X 20
1.987 x 300 x 740
4.576%20
1.987 % 2.3063x300 o (74{}
(D) 20 g 766
69 (2202 | ﬁjgrﬁ i1 [ BT.O.
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The effective dose is best described as which of the following 7

(A) the dose at which 50% of all test animals die.

(B) the dose at which some of the animals demonstrate a response o the chemical.
(C) the dose at which all of the animals demonstrate a response to the chemical.

(D) the dose at which 50% of all test animals demonstrate a response to the chemical.

TR GO B e ¥ ¥ feee w9 ¥ o e o ¥ 7
(A) @ gue g ot ol olew R W weed ¥ @ 50% Towm € )

(B) =% gy® @ W B wFaT 9§ W & gfy gfifen @ ¥
(C) =% gue e W 9l SIFEX o8 R & Wiy vkl s

(D) = gue g 9 g TEy 6 W s & 50%, 39 W & wia giiiear gl
CIGE

A chemical that is toxic to the brain but which is detoxified in the Hver would he

expected to be —

(A) more toxic orally than intramuscularly

(B) more toxic rectally than intravencusly

(C) more toxic via inhalation than orally

(D) more toxic on the skin than intravenously

IT @ S ARaws & R frow ¥ ofee gwa N o @ s € 9w g -
(A) sausio o g ¥ g6 ¥ w9 S e

(B) eim:firaw of gEw & T ¥ §H W SR fawea

(C) He ¥ o & g | € § g0 suw e

(D) safrw & e ¥ o ¥ o W e e

69 (2202) | %}3 12 [ PT.O.
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According to the Maxwell-Boltzmann distribution law for gases, the average
translational kinetic energy is —

It ¥ e dewed Seggne foaw Pem & oeR ol el e oo ¥ -
(A) 0.5 KT (B) kT

(Cy 1.5kT Dy 2.5kT
The condition for a gas to behave ideally is —

e ¥ el e » Y Rufe ¥ -

AN AT
@ \ar ).~ ® |37 )~
di dP
© (?;;)T:g D) [dﬁ]T:g

What must be the molecular weight of a gas that diffuses twice as rapidly as S0,
(mol. wt. (80,) = 64) 7

T8 g W SO, F gEw 7 ¥ [ U ¢ faie S ¥ swe e Reee g i
(IR (80,) = 64) 7
(A) 16 (B) 256

€) 64 (D) 156

The root mean square velocity of hydrogen is /7 times the root mean square velocity

of nitrogen. If T is the temperature of the gas :

TIESIOM @l & WIS W o, WIS % o I W 9 W1 Lf7 T E | aR T et aa

TEa:
(A) T{(H;)=T(N;) (B) T{Hy)>T(N,)

(©) T(H,)<T(N,) (D) T(Hy)=7T(N,)

pemensy
e
ee!
o




44 Electrophoresis is not used for the separation of ....
(A) Nucleic acids {B) Proteins
(C) Amino acids (D) Lipids
Igq &Y dued @ . % JUEeI & e Ae) g e s §
(&) =g s (B) wém
(C) oAt eps (D) fefrs

45 The electrophoretic mobility denoted as L is mathematically expressed as :

Jgm o dueT Toshen, Meel po¥ 3R §, gee v e @ B d 9 e e
HEHT & 7

(A) OF B)

1
© == @)

E
)
v
E-® E

46 The velocity ‘v’ of a charged particle in an electric field in a medium can be
mathematically expressed as v ‘—=*~§4, where E, and [ are —

(A) Energy and frictional force

{(B) Electrical force and gravitational force

(C) Electrical force and frictional coefficient

(D) Equilibrium constant and coefficient of gravity

Ow e H foEw & § onaiig %O % O v &I M TR B9 ¥ e fewn S wsa
3 E@’ - .
6:v=~};~w€geﬂTf%-

(A) st ok wdv s@

(B) fr@ = ok oy W

(C) fome s & = T

(D) drareeer Rutie o ToerdyT & O0H

69 (2202) ] Cﬁﬁ 14
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47 What does the electrophoresis apparatus consist of ?
(A} Gel, buffer chamber and fire pack
(B) Bufler chamber and electrophoresis unit
(C) Electrophoresis unit and gel separator

(D) Power pack and electrophoresis unit

R v SOWT SYBCT A F B 7
(A) 99, 8T I=T AT BT 0H

(B) THT T Sl I HV G9ET gFie
(C) Jga &9 W gfe o) we 9
(D) e Y% o) T wv gued g

48 The phrase that best defines "toxicodynamics” is the
{A) linkage between exposure and dose
(B) linkage between dose and response
(C) dynamic nature of toxic effects among various species

(D) dose range between desired biclogical effects and adverse health effects

% eyl W RS (toxicodynamics)”’ @ TS aTEsT URETT T E,

g8 & —

(A) wifew ok gU® & 99 w9y

(B) gu® R ukifsar & €9 d¥y

(C) ot wonioel & 99 fawe wae @ il veka

(D) difsy Sifvw v o) Uige @R & S19 § GO @ e

49 Magnan's symptoms are characteristic symptoms with which poisoning 7
(A) Alcohol (B) Charas
{Cy Cocaine {D) Ecstasy
e A Rewe! faurwmar & Rfdve @ ¥ 7

(A) TwpiER B) ™
(C) ®moE (D) swE
69 (2202) | % 15 [ 2
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30  Which of the following statements is true ? 53  Steam causes more severe burn than the boiling water because it possess —
(A) Viscosity of a liguid is inversely proportional to temperature. (A) Latent heat of fusion

\ . el ~ . ° o =, . e +3 - £ PP, . i~ - 5
(B) Viscosity of a liquid is inversely proportional to the square root of temperature. (B) Latent heat of vaporization

A

, . . .. i
{(C) Logarithm of viscosity is inversely proportional to temperature. ; e
N AT S Y proporionat mp {(C) Latent heat of sublimation

(D} The negative of the logarithm of viscosity is directly proportional to the square ) . e
root of temperature (D) Latent heat of crystallization

SrefRem ¥ e wug R 7 AG, FAEC TE B QAN A AE TR § TS B BT S ¢ w0 oud U ARy i

(A) ¥g @ 99w, AOAT & YEHAURY BRI & | (A) T B YA S
(B) =@ & O], TUEH % TEW ¥ SgepHa] @Rﬁ%‘ | (B) Iriiemter & T S0
(C) Yarar o WU, TN % SERIIRT e § | (C) U & T

(D) aFEr & HONEH TGO, A & T & G sl § (D) frede & T G

51 Th i f a liguid has the di i - . :
¢ surface tension of a liquid has the dimensions of 54 Schottky defect is observed in cyrstals when —

(A} work per unit area (B) force per unit area . . . ) ) e

(© foroe por unit length (D) enetgy per unit length (A) some cations move from their lattice site to interstitial sites.
% 7 T A R ¥ (B) equal number of cations and anions are missing from the lattice.
A) @ oy s d B) @ sy o (C) some lattice sites are occupied by electrons.

(©) s T W D) we R e ded (D) some impurity is present in the lattice.

fpew § Sifes 9N SEl Wen & W —

52 N, has a critical temperature of ~147.1°C, while O, has a critical temperature of (A) F® T I WG WE Y SiERl W W AW Wi ¥

~118°C. At 70 K when both are liquids, which of the following statement is true ?

(B) we® € T oF I SO SR WSS %Y 9 §Ue] B ¥
(C) T® TIMe ©F @ ¥ BT TkeniE &1 e o §
D) vww ¥ o ayghs safm s @ ¥ |

(A) N, has a higher surface tension, but lower b.p.

(B) O, has a higher surface tension, but lower b.p.
(C) N, has the lower surface tension, but higher b.p.
(D) O, has both higher boiling point and higher surface tension.

N, &1 @i® aoam —147.19C %, wis O, @ s qo —118°C & 1 70 K wT w®
! 79 ¥, Fretaied § ¥ B YT Wel § 7

(A) N, & U5 TIE AT § Wi qEuTis o9 ¢

55 The number of atoms per unit cell in a simple cube, face centred cube and body
centred cube are respectively —

T O, BEE Diad T O B HEET T B THS Sivom I UIANSN B T BT

(B) O, @1 Y a7 W & Ve F9u7ia &9 ¢ | B E -
(C) N, & T o &9 ¢ AfT F9ueie SO € | Aa) 142 ®) 124
(D) O, = T T SR FaUAS 2Al SRl § | € 42,1 ®) 2,4, 1
69 2oz ] = 16 [ PTO. 69 e2on | == 17 [ PT.O.
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57

58

39

Group 13 elements show +1 and +3 oxidation states. Relative stability of +3 oxidation
states can be given as —

TE 13 & o +1 9o 43 Wm&mﬁ@a&ﬁ%a | +3 STRNGT Tgw @) e
i f5g v § o W g § 7

B TP >mP>GPs>asp®t
® BP>AaP>GPsnt s
© APs>caPs>TP smT >pt?
(D) AP >BT G >THP >0t

The correct order of the decreasing ionic radii among the following isoelectronic
species is —

THSGE FIEl @ R (T %1 Hedl 5o 9el B § -
(&) K'>Cat?>Ccrsst
(B) Cca®t>xt>s87sCr
(©) CI'>s8*¥ >ca®t >K*

(D) $* >Clm>K' >Ca?t

The decreasing order of the boiling points of the following hydrides (i) NH; (ii) PH,
(iii) AsHj; (iv) SbH; (v) HyO is

et srseEs! (1) NH; (i) PH; (iil) AsH, (iv) SbH, (v) Hy,O ¥ wguieT @ e
WA & -

(A) v>iv>i>ii>ii

(B) v>i>ii>iii>iv
©C) ii>iv>ii>i>v ®O) v>iv>ili>ii>1

A neutral atom of an element has 2K, 8L and 5M electrons. What will be the total
number of p-electrons 7

T G B e (@) T ¥ 2K, 8L @ SM SR B € 1 39 oW p-geeni
@ der B ?
(A) 8
(€ 6

B) 9
®) 3

9 (2202) | ﬁ% i8 | BT.O
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60 To remove NO, from a given mixture, it is heated with which of ¢

61

62

63

69 (2202) ] % 19

1

he following 7

[N

%Esﬁ & 5\@ 7 ¥ 9 feas WIS T T VI % ?

Rt Reg e B A 4 NOY B

(B) H,NCNH,
I
O

(D) H,S

In a brown-ring test for the nitrate ion, the brown ring appears due to the
formation of —

AEeT By T T ¥, vt ed &, e e ¥ -

(A) FeSO,-NO (B) [Fe (H,0), ]

©) [Fe{H2@)5Nﬁf+ ©) [Fe(H,0) N@j

An aqueous solution of 2 heavy metal nitrate with HCI gives a white precipitate ‘A’
which is soluble in hot water, and the solution of ‘A’ on treatment with B gives
chrome yellow. Identify A and B.

T " & TR W we e, HCL & 919 0% 9% 99y ‘A 3ar § W B i arh
T gEei® © 9 fEEE ‘A, B’ % @iy fhar o1 mm O (SRe ) dar ¥ AT gan
'B' @ ggEig -

(4) A=Pb(NO3),

, B=Pbl,
(B) A=PbCly, B=PbCrO,
(C) A= ?b(NO3)2, B= Pb(CH3}4

(D) A=PbCly, B=K,Cr0,

In which of the following equilibrium reactions, taking place in a close container, the
equilibrium would shift to the right, if total pressure is increased ?
Fadu o otte stfsm I M R d A o @Y, ¥ o0 o9 & o0 T T

= aTe Rogs wer 7
(A) Nyg)+3Hyg) = 2NHyy  (B) Hyy) Iy = 2Hy

(©) Hag) +Clag) = 21Clg) (D) NiOypg) = 2NO()



68  Which of the following molecules does not possess dipole moment 7
e E g BE Y oo ¥ Ty ey W B ¥ 7
{A)- H,8 (B) S0,

64 If pH =2 for a solution; then concentration of hydrogen ion in moles per litre is —

gt fedt Rmreg &1 pH =2 %, o iy fiee & seeie omaw @) 9inar § -

(Ay 1x10°14 (B) 1x1072 o sp 4 D) CS
U 4 )y

€ 1x107 D) 1x10712

69 The sum of the numbers of protons, electrons and neutrons in the heaviest isotope of

hydrogen is —
TEET & gy Wil geenhe ¥ YW, soee ol REe @) gl of 99 ¥ -

65 Let the solubility of an agueous sclution of Mg{OH), be x, then its Kep is —

(a) 2 (B) 5
Mg(OH), & Sl fwes @f fomaar x &, @ swer K, 1 a0 86m -
(C) 4 (D) 3

(A) 4 (B) 108x5
(C) 27x* (D) ox 70 Oxidation state of Xe in Hy Xe Oy is :
H, Xe Oy ® Xe @t aiediomt s@en ¥
Ay 0 (B) +2
65 0.05 moles of NaOH are mixed in 5 litre water. pH of solution will be — (C) +8 (D) +4

NaOH &t 0.05 =@ 5 foex 5@ o Ty oiman ¥ ) fawaer &1 pH &7 8F0p 7
71 Cr* ion contains —

(A 7 B8) 10
(A) no unpaired electron (B) 2 unpaired electrons

© 12 D) 2 (C) 3 unpaired electrons (D) 4 unpaired electrons

Cr6 amaw & 89 € —
(A) ®% W oghve e T8 (B) < orgiaa weri
(C) & orghma wwe (D) =R agfue s

R B R S s emam e

67 CH3COONa and CH,COOH are mixed to prepare a buffer solution which has
pH = 6. What should be the ratio of concentration of salt and acid 7 (K, = 1675y

CH;COONz wd CH3COOH et ws uiee fawe e pH W 6 %, 379 &g
AU G SR Y W W T WU e wiey 7 (K, = 107°)

72  Which of the following oxides in most acidic ?
et & @ i SioNEs T SR o § 7
(A) N,Os (B) P,04
(C) As,0Os (D) 8b,y0Os

(&) 1:10 (B) 100:1

(Cy 10:1 D) 1:100

69 @202 ] == 20 [ PTO. 69 @20y ] = 21 [ PT.O.
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73 Which tool for measuring volume provides the most accurate measurements 7 78 For which of the following reactions, K. =K, ?

(A} Beaker (B) Graduated cylinder

zay ¥ Rre afulen & R K, =K, Ty 7
(C) Burette (D) Electronic balance
. . (A) PClyy+Cly,, = PCl
FET B AN B T BT TG 999 TR AW s ¥ 7 ) 3(e) 2(e) 5(e)
(A) @t (B) shvifr Ridfex (B) Hy(g) +Cly(g) = 2 HClg)
C) == (D) Tewei~e aUs) (©) N2<g)+3ﬁz{g>:2Nﬁg{g}

(D) CaCOy) = Calg) + C{}Z{g}
74 Which of the following is not used as desiccant in a desiccator 7

(&) CasO, (B) Silica ge? 79 One mole of a compound AB reacts with one mole of a compound CD, according to

(C) P,04 (D) Silver bromide the equation —

B AP Ay s W wr B sm s 7 AB(g) + CD(g) = AD(g) + CByy

(A) CaSO, ®) b . When equilibrium had been established it was found that 3/4{ mole each of reactant

(©) P05 (D) e s § AB and CD had been converted to AD and CB. There is no change in volume.
. The equilibrium constant for the reaction is —

75 How would you write the number 200, so that you had 2 significant figures ? . T AByg) +CDyg) = AD(g) +CB,) % 9O UE W| AB 9ifies, ww Wiw CD
o FEr 200 @ e e, i o o e ofe 2 e 7 : ﬁ At % WY SR BT ¥ | Y ST Wi § Wl §, 97 98 9 T 6 5w
(A) 2.0x102 (B) 200.0 WABHWCBW%W,@H&CB%@W@W%swﬁﬁém
(C) 2x102 D) 200 T ¥ | oriear W greaTaen Ruds ¥ -

9 1
NS ® %
76 Gravimetric factor for Ag in AgCl (Mol. Wt. : 143.5) is : |
| , e © % D) 9
AgCl & Ag &1 s &K@ (factor) ¥ : (snfas 9w @ 143.5) ¢ | ©
(A) 0.528 (B) 0.628 |
© 0753 D) 0553 § 86 5 moles of 80, and 5 moles of O, react in a closed vessel. 280, +0; =280,

At equilibrium, 60% of the SO, is consumed. The total number of gaseous moles

. . _ (805,05 and 80j) in the vessel is —
77 In qualitative analysis, which of the following will be the group reagent for fourth

group ? SO, & 59 9 Oy & 5 9@ T6 % 9 K Bhar & ¥ 1 280, +0, = 280,
o Tearyw ¥ agd o @ afeds B A ¥ @ g 2 wrREe] W S0, B 60% wd 8 s ¥ 1 9+ ¥ TWE "7l (SO,, Oy T SO3) & HW
(A) HC (B) H,S e & -
(A) 5.1 (B) 8.5
(© (NH,),S (L) NH,OH | (©) 3.9 (D) 105
69 022 ] = 22 [ PTO. § 69 ez | = 23 [ PTO
g
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81 On boiling with conc. HBr, phenylethylether will yield ~ 84 Which of the following is commonly used as the mobile phase in GC-MS 7
(A) Phenol and ethane
(B) FPhenol and ethyl bromide

(C) Bromobenzene and ethane

T ¥ T GC-MS ¥ e sreren § wdiy omar ¥ 7
(A) IO | (B) He

(D) 2-phenylethylbromide

g HBr & 91 99 9%, BEeEEat o -
(A) Revie T g

(B) i wd i SIS

(C) EREH ud g

(C) Air (D) CH;CN

The widely used ion exchange beds in domestic and commercial water purificatior
85 Th del d ] beds in domestic and comme ter purification
and softening are made of —

(D) 2-PFmRSES (A) Activated Carbon (B) Zeolites
{C) Graphit Dy (i
82 Amide on heating will P,Os gives — (&) Graphiie (D) Clay
(A) Amine (B) Alkyl Halide '\ T T EEEIG W % REE T UF R ¥ e B9 ¥ 3RO 6 W O s
(C) Alkane Nitrile (D) Alkanoic Acid ffrm der T ER ¥ - '
TIES B P05 % WY ™ BT W e ¥ - @) 2 ®) N
(A) T (B) wRew Torgs ;
(C) Twha e (D) s o (C) Ymre ¥ D) R e @

83 The product of the given reaction is —

& 7 afufpa @ SR ¥ -

/0 NaBH, / BF;-E,0
O;N— O )—coon -
(A) H,N @ COOH
i
® oN— O )—C—H
©) O,N ﬂ«ﬂ CH,OH
D) HQN«@'CHO

69 202 | 24 [ PTO.

86 In TLC, the Ry value of more polar component of the mixture is —

(A) greater than the Ry value of less polar component

(B) lesser than the Ry value of the less polar component

(C) equal to the Ry value of the less polar component

(D) always equal to 1

TLC =, oo & Sorer gaw we% & Ry 99 8l & —
(A) @7 Y99 U & R, 99 § S

(B) =9 A o2% & R 99 ¥ o4

(C) = g9 Ueh & R, AW & SqK

(D) =AW 1 & s{EY

69 @207 ] =P 25 [ PTO.




87 Assuming the given reactions to be El governed, the expected ratio of K, /K, will
be —

BASE /7 W\

7Ny —en N cr=
Rxd | : \J ?ﬁ CH, K, -5 wm:/}— CH=CH,
Br

P

7N
Rx" 2 (& i —CD ?éé% ¢ N—cr=cp,
Br

(A) nearly 1 (B) nearly 3

(C) nearly § (D) anything in between 7 and 10

& f & v afeard E1 P ¥, 98 KKy & o e S -

arffeRaT 1 mgﬁ —CH, m—-gi@ @C}1=CH2
; » .
Br
st 2 ci—cp, -, ¢ N cu=cp,
D JEw—
(A) Tl (B) w3
C) @™ 5 (D) 79 10% 72w g5 N

88 When toluene is treated with KMnO,, the product obtained is —
(A) benzene (B) chlorobenzene

(C) benzaldehyde (D) benzoic acid

Ifege @ drefymm e ¥ BRT SEn o 99 9 SEE § -

(A) o (B) RIS

(€) Fafewrss (D) deiss e
69 (2202) | f‘%{}ﬂ 26
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89  The number of chiral stereoisomers of given compound —

O 4w ¥ el Ry e S e ¥ -

H F

| CH,
CHy—C—C—CH . are

| ~CH,

F H
(A) 2 (B) 3
) 4 o) 3

90  The site, where attack of H* is the most favourable is —
IE e, TEl HY W T B 99y OEd ¥ -

Oge{&)
w)—f \5}
(C)—% -
@Y
CH,
(A @ (B) ()
©) (o D) @

91 The IUPAC name of the given compound is —

WOH

“A"0H

CH;
(A) (IR, 3R} - 1 - methylcyclopentane - 1, 3 - diol
(B) (IR, 38) - 1 - methylcyclopentane - 1, 3 - diol
() (18, 3R) - 1 - methyleyclopentane - 1, 3 - diol
(D) (1S, 38) - 1 - methylcyclopentane - 1, 3 - diol
g = 9fes @1 IUPAC wm & -

H WOH

/

o

CH,

(A) (IR, 3R) - I - AReamedes - 1, 3 - siarfe
(B) (IR, 38) - 1 - afwramaane - 1, 3 - sarta
(C)y (18, 3R) - 1 - Afkmamgae - 1, 3 - siow
(L) (18, 38) - 1 - I¥mERENT - 1, 3 - ederw

69 (2202) ] %% 27
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92

93

94

In Morphine, Nitrogen is present in form of a —

(A) Primary Amine (B) Secondary Amine

(C) Tertiary Amine (D) Quarternary Ammonium Salt
med ¥ soiug TEde @ WEI T -

(A) wrfhe T ®B) s T

D) =S SEIad W

)

(C) Tow TiE

2, 3-dimethoxysirychnidin — 10 — one is commonly known as —
(A) Atropine (B) Strychnine
(C) Brucine (D) Heroin -

2, 3-enteeiREe s — 10 — AT &I rEewar BEl S T -
(A) TEdE (B) tgmwng
©) w@= D) T

The correct structure of Nicotine is —

frepdE & wf @ R -

CH,

69 @] =k 28 [ BT,

X% p ¥ | : N > 4 . 4 s » I
Which of the following will be most abundant fragment ion formed from Z2-butanone
in the mass spectrum 7

2-WAN % W WaH ¥ e ¥ war o gEite e 7

rd hY @ (_B
e - @ (RS
(C) CH3-CH,-C=0: (D) CH, ._CE

The number of H-NMR signals of the given compound are —

g 3w d9ifte & TH-NMR deal @ dem ¥ -

H
Br H ™ E?

| §

H Br

(A) 2 B) 4
C 5 (D)

«:B}(;i H, = CI

“ N ﬁ"’“‘ X
(C) i\ 2 + CHN - ©) | + (CH,),NH
Sy CH3 R ~ CH,
69 @202 ] = 29 [ PT.O
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69 220 | = 30

The compounds generally best separated by liquid-solid chromatography are —
(A} Insoluble in organic solvents and are non-ionic

(B) Soluble in organic solvents and are ionic

{C) Soluble in organic solvents and are non-ionic

(D) Insoluble in organic selvents and are ionic

% 9fe W 7939 ORET $ BN TEY o7 OXE € % RRY W ¥, 9% -
(A) wEbe fHaws ¥ Ry o sl o

(B) wmetw fawmws ¥ feg @ omatve 2 ¥

(C) =rte Rwas ¥ g @ omemfe 89 &

(D) wwit foawes ¥ afiey @ smfe on §

The number of signals observed in the proton decoupled 3C NMR spectrum of
benzonitrile is —

JFEEEE & dew fging 13C NMR d@wen § ddal @ @ ¥ -
A) 3 (B) 4
() I D) 6

The alkene having the largest A value is —

T TR Ay W TG AT TEb 5 —

CHy  H

(4) c=cC
CH,” “H {
CH;( O

(B) C=C
CH;” OH
CHy  H

(C C=_

TP CH,

CHy\  ,CHs
C

Il

{D)
ocHy” NeH,

2>
-]
o

SPACE FOR ROUGH WORK / %= = ¥ f sz

69 (2202) | %}3

31



